(3 marks)

‘ " ‘ ve gﬁem m+nln p, wherem, n and p are rational numbers.

(3 marks)
e infinitely many prime numbers. & :
.-’l@&tﬁlbwhﬂ'axmdyndiminml’md
ot @ gl @
(3 marks)
(2 marks)
(2 marks)
B((ws:—l]sinx+§h—’:£msx)
= (4 marks)
(2 marks)
WWAAE,MBD&ABDC,WN:AlemdABAD=8.
' B
C
(8 marks)
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1 t g8
6. p(t)--ﬁln(t+1)—cos(;)+-1-a-t=, 0<st<12

LYY

stock price

1993+

10 | v B

Figure 2

Figure 2 is a graph of the price of a stock during a 12-hour trading window. The equation of the carve 1= gven Zhove

(a) Show that the price reaches a local maximum in the interval 8.5<7<8.6.
(& marks)

Figure 3 shows that the price reaches a local minimum between 9 and 11 hours after trading begms

(b) Using the Newton—Raphson procedure once and taking fp = 99 as a first approximsnon, fnd 2 sscomd

approximation of when the price reaches a local minimum.
{6 marks)

7. The value of a computer, V, decreases over time, 7, measured in years. The rate of decrsase of the vHlne IS

proportional to the remaining value.

Given that the initial value of the computer is Vo,

(a) show thatV =Ve™.
4 maThs )

After 10 years the value of the computer is %Vo !
(b) Find the exact value of £.
3 marks)

(c) How old is the computer when its value is only 5% of its onginal value? Give vour answer 1 3 sgnificant

figures.
& marks)
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